ARTEMIS series tunnel light installation instruction

@ I(INGSUN Note: The product pictures in the manual take TL2R3004 Artemis series tunnel light for example.

F—————————
Product Dimension D n
Product name Model No. L w H E ﬂ
TL2R3001 | 221 | 330 | 267 D n L
TL2R3002 | 253 | 330 | 267 H
TL2R3003 | 315 | 330 | 267 ) {
TL2R3004 | 377 | 330 | 267
TL2R3005 | 439 | 330 | 267 Y

ARTEMIS TL2R3006 | 501 | 330 | 267 I [

TL2R3007 | 563 | 330 | 267 I I

TL2R3008 625 330 267

TL2R3009 687 330 267

TL2R3010 749 330 267 Mounting height>8m, the maximum projection area of undergoing wind:
unit: mm L(m) x W(m) x 0.5

M Luminaire can not be directly installed on the surface of ordinary flammable material in any circumstance.

A

|
| Warning: If outer flexible cable or cord of luminaire are damaged, only manufacturer, its agent or eligible people
/T\ can replace them to avoid accident.

Installation Instruction

Drill 2 holes in the ceiling with electrical drill. Spacing as shown in @ Tap the M10 screws into the holes as the sketch shows.
picture 1.

The length of M10 expansion screw and the depth of the hole

should be 60mm or more than 60 mm. M\\\\\\\\\\\\\\l\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\
B
v

o
(ww ]
1
§§S§§ 2-@10mm§ %ﬁOmm% % & U
Cement Ceiling ﬁ

Lock arm bracket onto the wall with plain washer, spring washer Pass the power wire through the hole of arm bracket. Hang the lamp

and M10 nut. e onto the bracket with the alignment of hole location between lamp
clasp and arm bracket. Then lock the lamp onto the bracket with two
M4 screws.

W\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\I
L}

/s L

Plain Washer




15/

Please look at detail A/B on
the wiring place.

Connect the power wire with retention wire , then make insulation and water-proof processing. Please look at detail A/B at the wiring place.
(please connect wires as per appropriate color of power cords as shown in A/B diagram. )

Blue“N”
Please connect the same color or same

A Diagram
f /— polar wires together.
=~ V;

—)

PN
Retention wire

Brown“L”
Yellow green"L"

White “N”
Please connect the same color or same

B Diagram
f /— polar wires together.
= c

="

=
Retention wire

Black“L”
Green“L”

Loosen M6 screws with spanner to adjust lamp body until the beam angle meet with customer's requirement, then lock the screws with

spanner.

LY

g

Technical Parameters

Product Specification TL2R3001 TL2R3002 TL2R3003 TL2R3004 TL2R3005
Input Voltage 120V-277V~ 120V-277V~ 120V-277V~ 120V-277V~ 120V-277V~
Power Supply Frequency 50/60Hz 50/60Hz 50/60Hz 50/60Hz 50/60Hz
Power Rating

Product Specification TL2R3006 TL2R3007 TL2R3008 TL2R3009 TL2R3010
Input Voltage 120V-277V~ 120V-277V~ 120V-277V~ 120V-277V~ 120V-277V~
Power Supply Frequency 50/60Hz 50/60Hz 50/60Hz 50/60Hz 50/60Hz
Power Rating

IKINGSUN OPTOELECTRONIC CO.,LTD

www.kingsunlights.com

www.ksleds.com

E-mail: ks-sales15@kingsun-china.com

Global Customer Service line: 400 880 0816
Address: HengJiangXia Administration Area,
ChangPing town, Dongguan, Guangdong, China

Statement: The details in this book have been checked carefully, Kingsun reserves the right of explication for any errors caused by printing and translation. Specifications are subject to change without notice Kingsun Optoelctronics Co., Ltd All rights reserved

3306-TL2R-0049 (A)




	页 1
	页 2

